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QUESTION 1

Which of the following is / are true about Chi-Square Test? 

A. This is a part of Statistical tests. 

B. This test is a quality test for any production. 

C. None of the above. 

D. Both of the above 

Correct Answer: A 

 

QUESTION 2

What is the aim of the Six Sigma methodology when it comes to percentages? 

A. Improves customer satisfaction and shareholder value 

B. Discover all of the problems, then take actions to reduce them 

C. Improve all business processes to 99,9997% perfection 

D. Uncovering the gaps or defects in a business process 

Correct Answer: C 

 

QUESTION 3

The grand average of the subgroup averages is known as: 

A. X-bar bar 

B. X-double bar 

C. The grand average 

D. All of the above 

Correct Answer: D 

 

QUESTION 4

What is the ratio of defects to opportunities in a Six Sigma business? 99.9997% 

A. True B. False 

Correct Answer: B 
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QUESTION 5

What decreases as the sigma level increases? 

A. Change management 

B. Standard Deviation 

C. variability 

D. cost and cycle time 

Correct Answer: D 
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